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Die Simple Past Verneinung mit to be (wasn't, weren't) - Arbeitsblatt LOSUNGEN

Die Verneinung von 'to be' im Simple Past erfolgt durch was not/wasn't oder were not /

weren't.

Langform der Verneinung

I was not ...

You were not ...
He/She/It was not ...
We were not ...

You were not ...

They were not ...

Kurzform der Verneinung

I wasn't...

You weren't ...
He/She/It wasn't ...
We weren't ...

You weren't ...

They weren't ...

1. Wahle die richtige Form der Verneinung von 'to be' aus.
1. I was late. (Aussagesatz)

I was not late in school. (Langform, Verneinung mit to be)

I wasn't late in school. (Kurzform, Verneinung mit to be)

2. You were late in school. (Aussagesatz)

You were not late. (Langform, Verneinung mit to be)

You weren't late in school. (Kurzform, Verneinung mit to be)

3. He was late in school. (Aussagesatz)

He was not late in school. (Langform, Verneinung mit to be)
He wasn't late in school. (Kurzform, Verneinung mit to be)

4. We were late in school. (Aussagesatz)

We were not late in school. (Langform, Verneinung mit to be)
We weren't late in school. (Kurzform, Verneinung mit to be)

5. You were late in school. (Aussagesatz)

You were not late in school. (Langform, Verneinung mit to be)
You weren't late in school. (Kurzform, Verneinung mit to be)

6. They were late in school. (Aussagesatz)

They were not late in school. (Langform Verneinung mit to be)
They weren't late in school. (Kurzform, Verneinung mit to be)
7. The tickets were expensive. (Aussagesatz)

The tickets were not expensive. (Langform Verneinung mit to be)
The weren't expensive. (Kurzform, Verneinung mit to be)
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Mit der Quellenangabe sind die Kopiergebihren fiir den Gebrauch in Schulen abgegolten.
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